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http://farbe.li.tu-berlin.de/eeql/eeqllOna.txt /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eeql/eeql.htm

__n

Equal 9 step grey scaling betweeb* gon=22.3 andL* go,»=95.9, Yoref=2.5, normalisation greyU

Equal 9 step grey scaling betweeb* g,n=22.3 andL* gaw=95.9, Yore=20.0, normalisation greyU

L*0an=22.3,L*0a=59.1,L*0an~96.0,Yoan=3.6., Yoaur27-2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*1an=28.3,L*15=59.1,L*1an=93.7, Yian=5.6, Yiau=27-2, Y;an=84.7,Ciay=Yiaw: Ytan=15.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,,=100

g%= 99, g%= 99 g%= 82, gip= 77 g%= 98, g%y= 98

L*0an=22.3,L*0a759.1,L*0anF96.0, Yoan=3-6, Yoaum27-2, Yoaw~90.0,Coavy=Yoaw: Yoan=25.0
L*tan=43.6,L*150=59.1,L*1an=83.6, Y;an=13.6,Yiau=27 .2, Ytan=63.4,Ciav=VYiaw: Yian=4.7
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* =100 AL* min] / [AL* max], L* cleLa = 116 [Y/Yp] 1/3 - 16 with Y >= 0,882,Y,=100

g’%5= 99, g'g= 99 g%5= 47, g’y= 40 g%5= 96, g*y= 87

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1109 *a AlL*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1135L*a Al*a
1007 (Mo 90 120 0 10] 937 10 847 10 93.7 1007 (e 960 10 9.0 10! 836 10 634 10 83.6
; 8.1 ; 6.6 5.0
8 868 0875 69.6 0.763 85.0 0.866 66.0  0.876 85.6 8 868 0.875 69.6 0.763 77.0 0.835 51.6  0.875 78.6
: 8.7 8.1 : 6.3 5.0
7 776 075 525 0566 76.3 0.733 504  0.751 775 7 776 075 525 0566 70.7 0.677 41.8  0.749 73.6
75 : 8.2 75+ : 6.0 5.1
6 684 0625 385 0403 67.7 0.601 375  0.626 69.3 6 684 0625 385 0403 647 0527 337  0.622 68.5
' 8.5 8.2 ' 5.6 5.0
@5 591 05 272 0273 591 0471 272 05 61.0 @5 591 05 272 0273 59.1 0.387 27.2  0.496 63.5
1 8.2 1 5.0
50 @4 499 0375 184 0171 50.8 0.343 19.1  0.374 52.8 50~ @4 499 0375 184 0171 541 0262 221  0.372 58.5
: 8.0 8.2 : 43 48
@3 207 025 117 0094 4238 022 130 0248 446 @3 407 025 117 0094 4938 0.154 183  0.251 53.7
: 8.1 : 47
@2 315 0125 69 0038 352 0.104 8.6 0.125 36.5 @2 315 0125 69 0038 463 0.066 155  0.134 49.0
1 ; 8.2 gl : 2.6 5.3
25 @: 223 00 36 00: 283 00 56 0.0 28.3 25 @: 223 00 36 00: 436 00 136 0.0 43.6
0+ : L YoatY, 0+ : L Yot
AL*.=9.2 i=1,2,...8) | normalisation: Yiiu=Yoau g 22 0ref. AL*.=9.2 i=1,2,...8) | normalisation: Yiaiu=Yoau 22 0ret.
0& ( ) ‘ taiUu OaUYOaU"'YOref 0a (i ) ‘ taiUu OaUYOaU+YOref
eeql0-3n eeqll-3n

Equal 9 step grey scaling betweeh*ogN=22.3 andL* gaw=95.9, Yoref=10.0, normalisation greyU

Equal 9 step grey scaling betweeh*ogN=22.3 andL* gaw=95.9, Yoret=90.0, normalisation greyU

L*0an=22.3,L*0a=59.1,L*0an=96.0, Yoan=3.6, Yoau=27.2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*tan=37.7,L*au=59.1,L*1aw=88.5, Y1an=9.9, tau=27.2, taw=73.1,Gay=Yaw: Ytan=7-3

L*0anm22.3,L*0a=59.1,L*0an=96.0, Yoan=3.6, Yoau=27.2, Yoaw=90.0,Coay=Yoaw: Yoan=25.0
L*an=53.7,L*15u=59.1,L*taw=70.7, Ytan=21.7, Yiau=27 .2, Yian~41.8,CGav=Yiaw: Yian=1.9

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,,=100 g* = 100 PAL* min] / [AL* max], L* cleLag = 116 [Y/Yn]1/3 - 16 with Y >= 0,882,Y,=100
g%= 99, g%= 99 g%=59, g%y= 52 %= 98, g%= 93 g%= 99, g%= 99 %= 30, g%= 23 %= 88, g’y= 74
L*cieLas  intended output real output linearized output L*cieLas  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 11241 *a Al*la n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 116 L*a Al*a
1007 (M9 90 10 90 10 885 10 731 1.0 88.5 1007 (M9 960 10 9.0 10] 707 10 418 10 70.7
: 6.3 1 2.2
8 86.8 0875 69.6 0763 80.8 0.849 582  0.876 82.2 8 868 0875 69.6 0.763 67.3 0.799 37.0  0.869 68.5
: 6.3 : 3.1 2.2
7 776 075 525 0566 73.3 0.701 457  0.751 75.9 7 776 075 525 0566 64.2 0.617 331 074 66.3
75T : 7.2 6.4 75+ : 2.7 2.1
6 684 0.625 385 0403 66.1 0.558 354  0.625 69.5 6 684 0.625 385 0403 615 0.457 298  0.613 64.1
: 6.9 6.4 ; 23 2.1
@5 591 05 272 0273 591 0422 272  0.498 63.0 @5 591 05 272 0273 591 0.319 27.2  0.491 62.1
: 6.4 1 1.9 2.0
50— @4 499 0375 184 0174 527 0.294 207  0.372 56.6 50+ @4 499 0375 184 0174 57.2 0205 251  0.372 60.0
: 5.9 6.3 : 1.9
@3 407 025 117 0094 4638 0.178 159  0.249 50.4 @3 407 025 117 0094557 0.115 23.6  0.259 58.1
: 6.1 : 1.9
@2 315 0125 69 0038 417 0.079 123  0.129 443 @2 315 0125 69 0038545 0.047 225  0.149 56.3
1 : 6.5 1 : 25
25 @: 223 00 36 00: 377 00 99 0.0 37.7 25 @: 223 00 36 00537 00 217 00 53.7
0+ : - YouitY, 0+~ 3 o YourtY,
AL*0.=9.2 i=1,2,..,.8) : normalisation: Yiaiy=Yoau 22 <0ref. AL*(.=9.2 i=1,2,...,.8) : normalisation: Yiajy=Yoqu 22 <0ret.
04 ( ) 1 taiu=Y0au YoaUYoref 0a ( ) 1 taiu=Y0au YoaU Voref
eeql0-7n eeqll-7n '

Test chart eeql; Equal 9 step grey scaling for fo

ur display refleéfigrs2,5, 10, 20, 90, and
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blackL*N cieLAB=22.3,YN=3.6 and whitd*\y cigL AB=95.99,Y\w=90, normalisation: grey
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